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Gafa le Mata p.163: 1-3




Chapter 33: Capacity-Litres () and millilitres (ml)

1. Use o litre jug to fill the following containers with water, Measure the amount
of litres each one tokes. Then order the containers from smallest to lorgest
(1 being the smallest and 5 being the largest),

(a) | kettle
(b) |saucepan
() |basin
(d) | sink
(e) {bucket
2. Write the following os millilitres (mb).
This measuring jug will help you. e ) -
| @Wile____ gm He  ml
WH= __ m = ml
(© Sl=__m 0 Hl=—__mi
(@ i= m W = l
m3=____m éq) Bi=____m
(k) 011 = ml i) 09l= i
(mOSt=____mt i ON=___ml
(o) 0-251 = mli(p) O75l=____mi

4. How many ml must be added to each jug in Question 3 to make 1 litre?
(@ —ml i) —m i mlf ) om0 i









